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(USB) +2.7V

+5.5V

1
+26V

IC1 R2

OUT

IOUT = (R2 · ITRIP) /100.

R1 R2 :

R1 = 120/(R2 · ITRIP).

R1 1A

10A

R1 IC2
( N MOSFET ) “

” (LBO) Q2

IC3 ( )

IC2 2

IC2 Q1

1. +26V

MAX1614

IC2
BATT

R2

R1

8

1 2 6

58

Q1
FDS6680

LBI4

5 1

6 7

OFF

LBO 3

2

GND ON

SRCGATE

MAX835

IC3

IN

GND

OUTVCC

2

1

R5

RES
3

5

C1
R4

RLOAD

VIN = 12V to 26V

VIN = 12V to 26V

R1 = 1.2kΩ (1%)
R2 = 100mΩ
R3 = 68kΩ (5%)
R4 = 6.8kΩ (5%)
R5 = 100kΩ (5%)
R6 = SEE TABLE 1
Q1 = FDS6680
Q2 = 2N3904
D1 = 1N5997B (7.5V)
C1 = 0.01µF

R6

R3
D1

Q2
2N3904

4

CLEAR

MAX4172

IC1

V+

RS+ RS- OUT

GND

VIN
26V
24V
20V
15V
12V

R6 (5%)
3kΩ

2.7kΩ
2kΩ

1.2kΩ
750Ω

Table 1.  R6 Values

DESIGN SHOWCASE

26V
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IC3 ( )

(

) +12V

1 ( 1 ) R6 +12V

D1 R6 IC3
( IC2 Q1 ) :

5µs ( 2a ) 400µs ( 2b )
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2. 1 1A ( ) (a) (b) ( VOFF IC2 2 )

VOFF

VGATE 10V/div
10V/div

5V/div

VSRC

5µs

VOFF

VGATE 10V/div
10V/div

5V/div

VSRC

100µs

(2a)
TURN-OFF TIME

(2b)
TURN-ON TIME


